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Section A: Logical Reasoning and Analytical Ability / &€ 31: aTfeheh qeh SR farswomeHe &war

Consider the following statement:“Though
quite expensive, Phone is not a luxury item, as
one can learn many things through Phone.”

Which one of the following is a valid inference
from the above statement?

a. Allexpensive things are regarded as luxury.

b. All essential things for learning are not
luxury.

c. Phoneisessential for learning.
d. Phoneisnota luxuryitem.

Examine the following statements:

(1)Iwatch TV only if [ am bored.

(2) I am never bored when I have my brother's
company.

(3) Whenever I go to the theatre I take my
brother along.

Which one of the following conclusions is
valid in the context of the above statements?

a. Iflambored, I watchTV.

b. Iflambored, I seek my brother's company.
c. IfTamnotwith my brother, than I watch TV.
d. Iflamnotbored,IdonotwatchTV.
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Consider the following statement:

The Third World War, if it ever starts, will end
very quickly with the possible end of
civilization. It is only the misuse of nuclear
power which will trigger it.

Based on the above statement which one of the
following inferences is correct?

a. Nuclear power will be used in the Third
World War.

b. There will be no civilization left after the
Third World War.

c. The growth of nuclear power will destroy
civilization in the long run.

d. The Third World War will not take place.

Four political parties W, X, Y and Z decided to
set up a joint candidate for the coming
parliamentary elections. The formula agreed
by them was the acceptance of a candidate of
the most of the parties. For aspiring candidates
A, B, C and D approached the parties for their
ticket.

A) was acceptable to W butnot Z.
B) wasacceptableto Y butnot X.
C) wasacceptabletoWand Y.
D) was acceptable to W and X.

When candidate B was preferred by W and Z,
candidate C was preferred by X and Z and
candidate A was acceptable to X but not Y; who
got the ticket?

a. A
b. B
c. C
d. D
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5. Examine the following statements:

None but students are members of the club.

Some members of the club are married

persons.

All married persons are invited for dance.

Which one of the following conclusions can be

drawn from the above statements?

a. All students are invited for dance.

b. All married students of the club are invited
for dance.

c. All members of the club are married
persons.

d. None of the above conclusions can be
drawn.

In five flats, one above the other, live five
professionals. The professor has to go up to
meet his IAS officer friend. The doctor is
equally friendly to all, and has to go up as
frequently as go down. The engineer has to go
up to meet his MLA friend above whose flat
lives the professor's friend. From the ground
floor to the top floor, in what order do the five
professionals live?

a. Engineer, Professor, Doctor, IAS officer, MLA
b. Professor, Engineer, Doctor, IAS officer, MLA
c. IASofficer, Engineer, Doctor, Professor, MLA
d. Professor, Engineer, Doctor, MLA,IAS officer
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Seven men, A, B, C, D, E, F and G are standing
in a queue in that order. Each one is wearing a
cap of a different colour like violet, indigo,
blue, green, yellow, orange and red. D is able to
see in front of him green and blue, but not
violet. E can see violet and yellow, but not red.
G can see caps of all colours other than orange.
If E 1s wearing an indigo coloured cap, then the
colour of the cap worn by F is

a. Blue
b. Violet
c. Red

d. Orange

There are 50 students admitted to a nursery
class. Some students can speak only English
and some can speak only Hindi. 10 students can
speak both English and Hindi. If the number of
students who can speak English is 21, then how
many students can speak Hindi, how many can
speak only Hindi and how many can speak only
English?

a. 21, 11and29respectively

b. 28,18 and 22 respectively

c. 37,27 and 13 respectively
d

. 39,29 and 11respectively

Six identical cards are placed on a table. Each
card has number 'l' marked on one side and
number 2' marked on its other side. All the six
cards are placed in such a manner that the
number 'l' is on the upper side. In one try,
exactly four (neither more nor less) cards are
turned upside down. In how many least number
of tries can the cards be turned upside down
such that all the six cards show number '2'on the
upper side?

a. 3

b. 5
c. 7
d 9
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10.. Examine the following statements:

I1.

George attends Music classes on Monday.
He attends Mathematics classes on Wednesday.
His Literature classes are not on Friday.

He attends History classes on the day following
the day of his Mathematics classes.

On Tuesday, he attends his Sports classes.

If he attends just one subject in a day and his
Sunday is free, then he is also free on

a. Monday
b. Thursday
c. Saturday
d. Friday

Read this statement before answering the
questions 11 and 12

A tennis coach is trying to put together a team
of four players for the forthcoming tournament.
For this 7 players are available: males A, B and
C; and females W, X, Y and Z. All players have
equal capability and at least 2 males will be
there in the team. For a team of four, all players
must be able to play with each other. But, B
cannot play with W, C cannot play with Z and
W cannot play with Y.

IfY is selected and B is rejected, the team will
consist of which one of'the following groups?

A,C,WandY
A,C,XandY
A,C,YandZ

A,W,YandZ
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12.

13.

14.

15.

If B is selected and Y is rejected, the team will
consist of which one of'the following groups?

a. A,B,CandW
b. A,B,CandZ
c. A,B,CandX
d A,W,YandZ

Read this statement before answering the
questions 13, and 14:

In a survey regarding a proposed measure to be
introduced, 2878 persons took part of which
1652 were males. 1226 persons voted against
the proposal of which 796 were males. 1425
persons voted for the proposal. 196 females
were undecided.

How many females voted for the proposal?
a. 430

b. 600
c. 624
d. 640

How many females were not in favour of the
proposal?

a. 430

b. 496

c. 586

d. 1226

A, B, C, D and E are members of the same
family. There are two fathers, two sons, two
wives, three males and two females. The
teacher was the wife of a lawyer who was the
son of a doctor. E is not a male, neither also a
wife of a professional. C is the youngest person
in the family and D is the eldest. B is amale.

Whose wife is the teacher?

a. A
b. B
c. C
d D
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16.

17.

18.

Section B: General Mental Ability / ¥Us q: HTH] ARG &Har

Three persons A, B and C wore shirts of black,
blue and orange colours (not necessarily in that
order) and pants of green, yellow and orange
colours (not necessarily in that order). No
persons wear shirt and pants of the same colour.
Further itis given that

A did not wear shirt of black colour.
B did not wear shirt of blue colour.

C did not wear shirt of orange colour.
A did not wear pants of green colour.
B wear pants of orange colour.

What were the colours of the pants and shirt
were worn by C respectively?

a. Orange and Black
b. Greenand Blue

c. Yellow and Blue
d. Yellow and Black

Given that,

Aisthe brother of B.
Cisthe father of A.

D is the brother of E.

E is the daughter of B.
Then, the uncle of D is
a.

oaQw >

b
c.
d

Shyam is the mother of Atul. Shyam and Ram
are sisters. Ram's mother is Bhoomi. If Krishn
is the son of Bhoomi, which one of the
following statements is correct?

a. Ramisthe grandmother of Atul

b. Kirishnis the maternal uncle of Atul
c. Kirishnisthe brother of Atul

d. Shyamiis sister of Bhoomi
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19.

20.

21.

Ramesh is father's father of Radhika. Suresh is
the brother of Nilesh. Radhika is the daughter
of Nilesh. Gunjan is the wife of Nilesh. How is
Gunjan related to Ramesh?

a. Sister-in-law
b. Daughter

c. Grand-daughter
d. Daughter-in-law

"Wherever there is smoke, fire is also present".

Which of the following statements is true with

reference to the above statement according to

Nyaya philosophy?

(1) Smoke cannot exist without fire also being
present there

(2) Fire causes smoke

(3) Universal fireness causes universal
smokeness

(4) It asserts that there is a relation of
concommitance between smoke and fire

Choose the correct answer from the options
given below :

a. Only(1)and (4)are correct
b. Only(1)and(2)are correct
c. Only(3)and (4) are correct
d. Only(2)and (4) are correct

Consider the following statements regarding
clocks:

(1) In 60 minutes, the minute hand gains 55
minutes on the hour hand

(2) Inevery hour, both the hands coincide once

(3) When the two hands are at right angles, they
are 15 minutes spaces apart.

Choose the correct statements from above :
a. (1)and(3)only

b. (1)and(2)only

c. (2)and(3)only

d. (1)
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22.

23.

24.

25.

Consider 'A' proposition as '"True' and 'False'
respectively, in a square of the opposition of
propositions, then which one of the following
is correct?

a. 'O'isTrueand'l'is False

b. 'E'is Undetermined and'O'is False

c. 'O'is Undetermined and 'T'is False

d. 'T'isTrueand'E'is False

Match List I with ListI1
List I List IT
7 lsannidnillr Mutual fitness and compatibility of
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L. flYogyata JlIL |\ - 4<'in a sentence

M. || Akanksa[IV.||Meaning intended by the sentence

J-ILK-LL -IIL M-IV
J-TV,K-TLL-TIL, M -1
J-ILK-LL-TIV,M-1II
J-TMLK-IV,L-T1,M-TI

e o op

A man fills a bag with potatoes in such a way
that the number of potatoes added on each
successive day is the same as the number
already present in the bag. This way the bag
gets completely filled in 24 days. After how
many days the bag was 1/4th full ?

a. 6

b. 12

c. 17

d. 22

Ifthe square of a positive number is 6 more than
five times the number, what is the number?

a. 6

b. &
c. 5
d 9
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26. A boat travel 240 km downstream in 3 hours

27.

28.

29.

and the time is taken by the boat to travel the
same distance in upstream in 6 hours. Find the
speed of stream (in kmph)

a. 40kmph
b. 30kmph
c. 20kmph
d. 35kmph

A question paper had ten questions. Each
question could only be answered as True (T) or
False (F). Each candidate answered all the
questions. Yet, no two candidates wrote the
answers in an identical sequence. How many
different sequences of answers are possible?

a. 1024
b. 2048
c. 512
d. 4096

In a meeting, the map of a village was placed in
such a manner that south — east becomes north,
north — east becomes west and so on. What will
west become?

a. South

b. South-—east
c. South—west
d. East

Examine the following statements:

1. Latascored more than Mahima.

2. Mahimascored less than Sweta.

3.

4. Riya scored more than Lata but less than
Sweta.

Who scored the highest ?

a. Lata

Sweta scored more than Lata

b. Riya
¢. Mahima
d. Sweta
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30. Outofatotal of 120 musicians in a club, 5% can

31.

play all the three instruments, Tabla,
Harmonium and Dundubhi. It so happens that
the number of musicians who can play any two
and only two of the above instruments is 30.
The number of musicians who can play the
Tabla alone is 40. What is the total number of
those who can play Harmonium alone or
Dundubhi alone?

a. 45
b. 44
c. 38
d. 30
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Section C: Comprehension Ability and Situation Analysis /%€ §: gHg g 3R fRfY fawdyor

Passage : What needs to be set right is our
approach to work. It is a common sight in our
country of employees reporting for duty on
time and at the same time doing little work. If
an assessment is made of time they spent in
gossiping, drinking tea, eating "pan" and
smoking cigarettes, it will be shocking to know
that the time devoted to actual work is
negligible. The problem is the standard which
the leadership in administration sets for the
staff. Forget the ministers because they mix
politics and administration. What do top
bureaucrats do? What do the below down
officials do? The administration set up remains
week mainly because the employees do not
have the right example to follow and they are
more concerned about being in the good books
ofthe bosses than doing work.

The employees in our country
a. are quite punctual but not duty conscious

b. are not punctual, but somehow manage to
complete their work

c. aresomewhatlazy but good natured
d. arenotvery highly qualified

1

o T &1 SieF el A AW & T6 ©
HTH & I §ART TCHIOT| FAR S H
AT R P& W RUIE & arel iR @y &
FH HH P dldl FAARAT HT Ig Th HTH
T g Ifg 9T Fe, I Ui, U @rel
AR fae @i 7 3% garT <adid fahe 9w
AT &7 3Teheled [hAT ST, Al Ig§ SATeAAT
e arem g ff aredfas & & faw
AT GHT 0 §| GHET 98 HATS &
S 9RIEe # Aded HAARAT & faw
e aar &1 A7 @1 o v F=ifE 3
Tt AR gemasT & fFerd g1 oy
AlPAE FIT I g2 o & ATASRT T
A 82 YR I TUTTAT HET & & FeAl6
ool g% & Flich heAUIRAT & I UTefel HIA
& foT T 30T AET & 3 T FH A
F1 JoreTr 7 Arfernt dr e fharet 7 W
& aX # 3 /AT &

31. AR ¢ H FHAART

a. HIT TAT & TIEG & olfched dhded & Ifd
AT AL &

b. THI & UIEG Al g, olfched [h&T kg 39eT
hIH I HT oIl &

c. TS TN olfeheT 3Tt TIHTT & gl &

d. agr—rma’lwafr%‘



32.

33.

34.

35.

According to the writer, the administration in
India

a. isbyand large effective
b. isvery strictand firm

c. isaffected by redtape

d. ismore or less ineffective

The word 'assessment' means
a. enquiry
. report

b
c. evaluation
d. summary

The leadership in administration

a. setsafine example to the employees
b. isofareasonably high standard

c. iscomposed ofidealists

d. isofaverypoor standard

The central idea of passage could be best
expressed by the following

a. The employee outlook towards work is
justified

b. The employee must change their outlook
towards work

c. The employees would never change their
work culture

The employer-employee relationship is far
from healthy

Passage: China is a true depiction of
Orwellian dystopia; a surveillance country
with state-controlled media and every facet of
an individual's life is governed by the leaders. It
creates its own narratives and project the same
to its citizens, as they are left in the dark and
unaware of the outside world.

The Chinese Communist Party (CCP) has
peddled narratives that suit their interests by
creating a narrative through disinformation by
using the Western media, which is ironically
banned in China, in the fear that its citizens will
become aware of the rights it has so
conveniently breached. Facebook, Twitter and
YouTube were banned after Uyghurs raised
their voices to claim their fundamental human
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33.

34.

35.

. d@H & AR AT H 9T

a. gw—orfhw;rm%
b. Sgd wed R TT ¥
c. ATTHIATAET & JHT AT &

d. HASLY IFTHET &

3TTaholeT QTsc T T &

a. W

b. Rar&

c. Hediehod

d. FRTET

TR H Adcd

a. AT & T Te 33=ST IS0 AT
AT

b. SR 3TT TR FT &
c. Jeafeai A Targ
d. agamww%

aiRd gl &1 Fag faar Arfaf@a garr

Y 37TOT T [T ST FehlT &

a. HIHA & Ui HAANT AT Tiochor 3T &

b. AR H HH F Ufd 3T TiReHIOT
SCele TR

c. FAAY FI o Ul I HEpfa A&
dceldr

d. fAaeFdT-Haarl §eY FoET A agd I &

el IR SIEITAT &7 Fear [T §;
Tsg-fafya Afear arer e FaRET ger 3R
Teh cgfe & Siidel & &Y Uge] I AAd3il Ganl
AT TR STaT §1 I8 39al TaT & T
AT § 3R 39 ARIRGT & 38 Re 92T
AT &, o d 3 H I AT & 3R Sl
gferar & 37Taire g1 &

el shegfaee arél (Fdd) o afReedr Aifsar
dI 3O Fh TYIR & ATH § Th
ITEITT oY 3791 Tl & 3fefehel Ferfaal
I U foham g, St fob et 3 faseeyot &0 @
gfaefd g 38 =X @ & 39 anie 39




rights in Xinjiang.

Currently, after the outbreak of novel
coronavirus, the CCP has projected its
innocence through counter narratives and
disinformation through the western social
media channels to defend China by
propagating fake news on how “effectively” it
controlled the ramifications of COVID 19 on
economy and health, and are also helping the
other countries to contain the virus and get back
on their feet.

Another evidence of China's hypocrisy can be
revealed by its growing online activity in the
area of content creation. It is observed that
China keeps showing the videos of its historical
heritage to attract millions of viewers on social
media. If the number of viewers increases then
China shows its disputed and crisis-laden
western regions, such as Chinese occupied
Jammu and Kashmir, Xinjiang, Tibet, Sichuan,
as tourist attractions, thereby appropriating the
culture of its minorities. These are the same
minorities who are coerced into renouncing the
same culture that is being appropriated.

All this while, Chinese citizens at home do not
getaccess to any media that is not pre-approved
by the Government, Chinese populace live in
constant oblivion and made to believe the
Government narrative. China created PLA's
Strategic Support Force (SSF/PLASSF) in
2015, which is tasked to overlook space, cyber,
and electronic, and warfare missions to create a
false narrative. The tireless efforts of Chinese
officials see no end.
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JTHRT & TR F FARTRS &1 S0 STt 391
SdelT 3T & Seoud har &l . Rafemer &
379 Aifoles ATAGITYSRT ST graT el & ol
3%IRT EdRT JTATST 361 & dG hagsh, efdel
3R gege W gfaser o fear aram |

AT H, 39T PRICTARRY & YT & 1S,
IrardT o afeaaT drerer AfSar daat & AT
q FIE FABT IR GEIIR & AETH § et
Y T&TT & foIT 39T SITATeT T AT eamdT
g fF 8 "THIdY FT & 387 egaedr AR
TARLT T COVID 19 & JHTT & g fomam,
3T W Aol TATIRT T TR fohar| 3R 3T
gelt &1 8 aRE Fl Udhed 3R HI W ®
aIId ATel H Acg AL &l

et AT & 8T F A T Fedr JTdarss
afafafer & e & aTEs &1 U 3R AT HHA
3T Fhar &l <@ H 3T § & AT @
Afzar ) arEt g2 A ST A & v
379eT UfeTias foarad & difsar fea@rar w@ar
g1 I gl Fr T&ar Sedr § ar @i 379e
faarfiea 3R dehcara afRasdr &Fr, v &
Al ool arel ST 3R HAR, ReaforamT,
fosad, fOg3met &1 wdieet & YT & &9 H
fe@rar &, S 39e HeqHETh! I FERid
 faferaiaa frar arar g1 3 a8 sreqaeas
g, e 38 d&pfd & Bisa & AU AR
o i T & o Rfaafaa frar s e 81
3 T & NI, TR IR AT AT S fohdr
W AfSAT T ggT G A § S wWER
CART Ya-3eJHIE w81 §, Hell Siefall oM
THATHT # B § 3N WHR FHr dglelt
faear AT g1 T o 2015 F PLA FT Tefors
A B (SSF/PLASSF) §a1s, o 3idReT,
AR 3R gelaciiein, IR g fAeEr &
HeTCHET YA T 1A HIYT I1AT § ATleh Teh 1T
FEE IR T ST Toh| At JfRwIRAT &
37U YT T IS 37 A8l &




36.

37.

38.

39.

The CCP has banned the social media
platforms because:

a. CCP is hypocritical and has double
standards

b. Social mediais dangerous for society

c. Chinese population is not interested in
social media

d. Social media platforms have boycotted the
Chinese market

The Chinese communist party has launched a
disinformation campaign because:

a. The CCPare very honest

b. The Chinese communist party has some
thing to hide behind matters such as
COVID19 emergence

c. The CCP wants to create an internal
harmony in China

d. The CCP has decided to open its borders for
free flow of ideas and information

Chinese Communist party shares videos on
social media platform because

a. It wants world tourists to visit and spend
money

b. It wants to open Chinese citizen's access to
world

c. Itisatooltobe friendly with the world

d. It wants to solidify its claim on the lands
under its illegal occupation by
appropriating the culture of minorities

The function of Chinese SSF is to:

a. To create a false narrative about China

b. To extend support to its neighbours

c. Toensure peace and stability in the world
d. To eliminate poverty from China
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36. TrAY & @Yerer AT2AT Colehid W gfaaer o

e § Faifen:

a. Y aT@ET § 3R 3T qlgX ATIES §

b. @rerel HATSAT AT & fIT WAt

c. T EIET S Aerer Hifsar & feoraedr
qe &

d. aOrera :Afsar ceewid o3 A6l IR FT
afgser fehar &

37. el hegfaee arél o e gSTIR RIS Y&

T § i

a. mmagaémm%‘

b. el HeEgfAEe IIEl & 9 COVID19 & 3gd
S AEet & NS B & fov o 7 3o
e

c. HrEY T 7 FTARS TG TAT A8l &

d. @A fauRt 3R A3 F HFd JaTg
& T 319el AT Wietsr &7 el fhar §

38. Hiel hegfaee arél |irer FAT colehidl T

ST MR AT & Fifh

a. g TIEdT ¢ [ faeg wdes av 3ik dar
T

b. Tg el ARG T GfetaT Teh TG Wieldm
A6l &

c. I§ giar & @Yy AT g H ThH
3THIOT §

d. UG ICUHETR I HERId S FRAAT HT
379eT 373 heot dTell SIANAT U 39T graT

JET AT TG 3

39. AT SSFaT I &

a. el & IR H T8 FElel a1l o fw

b. 3T9eT USIAAT T FHY ot & forw

c. farg & wifa 3R REeRar galkad w1 &
fow

d. o1 & I e & fow



40. Chinese officials have accounts on social

media platforms because:
a. They wantto test these

b. These are genuine attempts to connect with
the world

c. They are hypocrites

d. Chinese people want them to maintain these
accounts

Passage: India is preparing to bring back
around 700 more Sikhs who have been
tortured in Afghanistan. These Sikhs will be
brought back in several batches. After the
Citizenship Amendment Act (CAA) was
passed, the first batch of 11 Sikhs reached
India on 26 July 2020.The first batch of
returnees received a warm welcome by the
political leaders at the airport. The first batch
of the Sikh families is living in a gurdwara in
Delhi. The Delhi Sikh Gurudwara
Prabandhak Committee is looking into the
living arrangements for them. Sardar RP
Singh told IANS on Saturday (1 August),
“After the first batch, around 700 more Sikhs
are willing to come from Afghanistan. The
Indian embassy in Afghanistan is in touch
with them. We are working out on bringing
them back to India. Relatives of most of them
live in Tilak Nagar, so there will be no
problem in making living arrangements for
them.” Singh said it was only due to the bold
decision of Prime Minister (PM) that Sikh
brothers suffering from torture in Afghanistan
are been brought back to India. If the CAA
was not made, the victims of religious
persecution in the neighbouring countries
would have not got citizenship in India. Many
members of the Sikh community are currently
seeking refuge in the Kabul Gurudwara after
fearing for their safety. The targeting of the
community though has continued after a Sikh
man was abducted in June while he was going
to a Gurudwara to perform sewa. He was
subsequently rescued from the captivity of
Haqgani network by Afghani forces. The
Afghani Sikhs and Hindus who will now
arrive in India include those who have been
facing security threats. Many of their relatives
are already settled in India.
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40. = 3RIRET & @rera AT Pehid W

3reT3e & Fif:

a. 3WW&TUTWTW§'

b. ¥ GfelaT & S+ o arEfash TAE ¢

C. 3‘C|'I'Ei'5°|'%

d. Al T TEd § & 3 37 @il & S e
cec)

R 918797 700 3R T&@ &l arqd el
JIrl R @ €, ee wanfaEdie # garsa
forar amar &1 31 ROl & #% Sedt # amad
SR STQAT| ARGl &Y s
(@wT) aiRd gl & a1, 11 fa@T &1 ggelr siear
263_1}113"2020ﬁ8-m?rq§;m|631é’343‘s‘wqﬁ
ST & Ul AdI3 garT el &
Earrd far aam| @ aRant &1 gger S
feeel & T TreaR A E W@ ¢ ool E
TECART JaUeh HA IeTeh Lol I AT &
E 1 WER IR &g & afaar (130971Ed) &
JTEVTATH F gl "Tgol e & G HS 700
IR RBE 3mnfaede @ 3= & IR g
HBIMAETATT H HRAT GTard 3eTeh Hh A
gl & 3e¢ AR a9y oflel 9 H X @ &l
397 ¥ SR & RedeR fdeed o) & T
g, 3T 3 (@1 I cTaTAT el H FIS
e w161 a1eft.” &g o FeT [ I8 g geT
7 (drwA) & TEfie @v & SRoT o1 %
Ahafaede & aider & s @ amsat &t
R aT9H T 17| 3R HIUT ST ST ar
eIy gt & enfie varsar & R el i
HRE &Y ARTRAAT T61 [Aerd. &g FaerT &
FS HEET 3T GI&T & ST { 38 AT HgeT
IRCdRT H RUT of 7§ 81 ST & Ueh @ aferd
T 3TUEOT T TOIIT 1T T, ST 98 JeeaR A
T A ST @M AT, 38 dl & FHAT H
fXRITAT ST SR 81 &1 H 3o 3THIAT Sl
GART §FFIeI Acdeh i he & TATAT IAT| 379
HRT 3T aTel 3T R 3R g 7 a afer
st enfAer & S GRat TR 1 [THAT el




41.

42.

43.

44.

Why was Indian Government preparing to
bring the Sikhs and Hindus from Afghanistan:

a.

b.
C.

Indian population is under decline and we
need immigrants

Hefty immigration fee was being charged
These were under threats from Taliban/
fundamentalist elements in Afghanistan

There was no need for these people to live
inAfghanistan

Which government of India branch helped in
their escape from Afghanistan:

a.
b.
C.
d.

Indian Embassy
Indian Navy
Indian Public
UNHCR

Haqqgani Network are

a.

b
C.
d

They are friendly to Sikh People

. They are trader people

Itis ademocratic party of Afghanistan

. They are fundamentalist who have

attacked Sikhs and Hindus in Afghanistan

Many members of the Sikh community were
seeking refuge in the Kabul Gurudwara:

a.
b.

Because it was time for annual pilgrimage

They were under direct threat from
Taliban/ Haqqani network people

The food in gurudwara was very good

. They had been called there for meeting
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41.

42.

43.

gg IET &1 378 s RdeR ugor ¥ & 9Ra &
THEVE|

HRA AIHR IRIMAEATT & @t 3R et

SATeT T IR F4T T ET A

a. HRATT 3ETET O¢ T & 3R §H yarraar
N STRA &

b. AT STRALAT BrE ager S i & A

c. ¥ FPIMfATar & drforars/wgygelt deal &
TR HY

d. 3T SR Pl HRIMATAT H IGod I IS
S oTET &Y

AR TR T 7T ATET 7 3o THINAEATA
T 9P 7 A F:

a. AR gdrard

b. SR FG=T

c. HARA SAdr

d. JUATTHINR

EFRIAT Icdh &

a. 3 TA@ AN & 3HeThel &
b. I ST ehaT &

c. TE TPIMAEATT T Teh oliehdi3eh Tl &
d. T Fa § Sl 3rpenfaeasT & faat
3R B3t o) e fhar &

44. 0@ GHETT & $3S T el TEEaRT H ROT

AR A

a. FIifeh g AT LA T THI AT

b. d dIfEIA/gaRl dAedd & aEm I e
TN HY

c. IFEAR H Wl gl 30T AT

d. 3¢ G861 3o o ToIT eIrdr argy o7




45.

46.

47.

48.

49.

50.

People have been moving out of Afghanistan
because:

a. Afghanistan is democratic nation
b. Thebusiness interests dictate the migration

c. The fundamentalist forces/ Taliban /
Haqqani network were threatening people.

d. Noone has moved out of Afghanistan.

45.

ST ITHIMTAEATT H STEX 1T g o F b

a. RINTAEATT cllehdiTAeh ST &

b. ATGATAS B Jard & fAuTiRa s &

c. FHeId arFHd/AIfSTA/gFRIAT Acdd Al
HI AR I A

d. IS HY HINATATA F T8 AT 1T &

Section D: Quantitative Aptitude / €€ §: HIaTH® I

Find the wrong term in the series given below.
12,19,28,39,54
a. 12
b. 54
c. 19
d. 28
Find the wrong term in the series given below.
16,36,40,56, 88, 104
a. 16
. 40

b
c. 56
d. 36

Find the wrong term in the series given below.
5,25,65,125,206,305

a. 25

b. 206
c. 65
d. 5

Find the next term in the series. 160, 400,
1400, 6300, 34650, ?

a. 225225
b. 255225
c. 252225
d. 252254

Three bells ring simultaneously atlla.m.
They ring at regular intervals of 20 minutes,
30minutes, 40 minutes respectively. The time
when all the three ring together next is

a. 2p.m.
b. Ip.m.
c. L.15p.m.
d. 1.30p.m.
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46.

47.

48.

49.

50.

AT &Y TS AT 7 I UG A HforT]
12,19, 28, 39, 54

a. 12

b. 54
c. 19
d. 28

AT &Y 1S AT 3 I UG A HiforT]
16, 36, 40, 56, 88,104

a. 16

b. 40
c. 56
d. 36

AT &1 TS AT 7 I 9G A HiforT]
5, 25,65, 125,206,305

25
206
65
5

o o0 oo

AT H 30T ge AT FAT| 160, 400, 1400,
6300, 34650, ?

a. 225225

b. 255225
c. 252225

d. 252255

e 11 991 Ush WY il "fedr st g1
FHAA: 20 AsIe, 30 Ase, 40 T & =afaa
IR T Fold &1 98 AT A9 dial Teh iy
Tl g

a. 2 JANEA

b. 1 39IET

c. 1.15 39T

d. 1.30379XTET




51.

52.

53.

54.

55.

The number between 4000 and 5000 that is
divisiblebyeachof 12, 18,21 and 32 is

a. 4023
b. 4032
c. 4302
d. 4203

If the product of three consecutive numbers is
210 then sum of the smaller number is :

a. 3
b. 4
c. 5
d. 11

Two pipes of length 1.5 m and1.2 m are to be
cut into equal pieces without leaving any extra
length of pipes. The greatest length of the pipe
pieces of same size which can be cut from
these two lengths will be:

a. 0.13 metre
b. 0.4 metre
c. 0.3 metre
d. 0.41 metre

In a school, 391 boys and 323girls have been
divided into the largest possible equal classes,
so that each class of boys numbers the same as
each class of girls. What is the number of
classes ?

a. 23
d. 19
c. 44
d. 17

If x+2=V3 thenthevalueof »*+% isequal
to

a. (

b. 3v3

c. 13

d. 6V3
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51.

4000 31T 5000 & ST I JE&IAT ST IAF A

areT £12,18,21 31 32 &
a. 4023
4032
4302

b.
C.
d. 4203

52. e el ShATITT HEAT3HT T JOTAB 210 § of

BIET T&AT &l JET &
a. 3

o o T
= b

53. 1.5 #IeX 3R 1.2 X S8 & af II8ul &l fo=r

T 3faRea deg & JBul & B3 W

Tl H HIeT ST g Th &1 HHR & 9139 &
TSt T HEH TSI TS ST 3T 1T ST Hehll
& al oS graf:

a. 0.13 #Hex
b. 0.4 Hex
c. 03HX
d. 041X

54. Ueh Tohel H,391 oI5l 3R 323 orsfehall l qad

55.

ST 39 TATA et & fFantaa forar = g,
aIfer oISl & TS g1 HT T&AT dsfhar &
Tcdeh T & SeT 81 HeT3t & g&ar frdeir
&?

23
19
44
17

o 0 oo

R x+i=v3 d@F Pty
0

3v3

1/v3

6V3

T ATA & ST §

o 0 oo



56.

57.

58.

59.

60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
make in 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. Scm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

. Centroid

b. Incentre

c. Orthocentre
d. Circumcentre

)

If angles of measure (5y + 62°) and (22° + )
are supplementary, then value ofy is::

a. 16°
b. 32°
c. 8°
d. 1°
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56.

57.

58.

59.

60.

e 25 8¢ H 50 sheh &1 Hehdl &, 3Tieed 3N
3079 fATRT 15 8¢ H 75 dheh gl Hhd 2l
37079 15 8¢ 7 fhder Shah §oIT TehdT &7

25

45

20
10

o 0 oo

gfg 7 ASRAT 7 oA & 7 JT daATAT & ar 1

Aehal 1 1ol fopdet feat & garwafr?
1

7/2

7

49

o 0 o w

oIt 873l T hieT-a1 FHead F8feT g §=r
HehdT?

a. 59,6 T, 7 TAT

b. 5H, 8 JHY, 15 TAHT

c. 8 AT, 15 QAY, 18 AT

d. 68T, 78, 118

T f38eT o 37X Foud v fog P Fgger o ot
q TA gl W &1 o BT A T -

a. énT-E.'\T=F

b. A%

c. IR

d. FHAUR

IfE AT & FIT (Sy + 62°) A (227 +y) TR §,
ary T AT &

16°

32°

g

1

o 0 o w



